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1 Read the following text and answer the question below.

ZDEPICEREHINT VB LEICDOWTIT,
ZEELNET 23 TETRA,

[H 8 (—BRELZE) : https:/www.nytimes.com/]

Which of the following is the main idea of the text?

A. Few researchers have studied whether we should brush our teeth before or
after breakfast.

B. Some people believe that it’s better to brush your teeth after breakfast.

C. We should brush our teeth at least twice a day.

D. We should make morning brushing a habit, whenever it is.
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2 Read the following text and answer the question below.

ZDEICEEH IN TV BELEICDOWTIT,
ZEELFNBET AT TETE A,

[l (—EREeZE) : https:/www.bbc.com/)

Which of the following statements is true?

A. A giant 3D printer revealed at the University of Maine can print objects 29
meters long, which is four times longer than a blue whale.

B. FoF 1.0 is made of recycled polymers, and people can afford to buy it.

C. FoF 1.0 may be useful for the partial repair of historical architecture or
damaged buildings rather than for making full houses.

D. The invention of FoF 1.0 is likely to make most people get rid of brick and

mortar houses.
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3 Read the following text and answer the question below.

ZDEDICEHH I N T VB LEICOWTIT,
ZEMELNBETA LI T T A,

[H 8 (—EfeeZE) : https:/www.nytimes.com/]

Which of the following best fills [ X ]?

A. freedom of thought and of personal expression
B. his reputation compared to other composers
C. integration of new musical techniques
D

. receiving payment for his work
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4 Choose the best answer from A—D to rearrange the following

sentences in the best order.

@ Fingerprints form before birth. A person’s fingerprints may spread out
slightly over the course of their life. But the overall pattern stays the

same.

® However, criminals have attempted to erase these prints, complicating
investigations. What is more, it has been hard to tell whether fingerprints
found at a crime scene were left by the criminal or someone else at

another time.

@ Nearly everyone in the world carries a unique ID right at their
fingertips — their fingerprints. That is why some phones can be unlocked
with a user’s fingertip. And why fingerprints left at a crime scene can

help identify the criminal.

@ One team has found a way to uncover fingerprints that have been wiped
down. The technique relies on the fact that chemicals in a person’s
fingerprints corrode metal surfaces. That corrosion can be detected even

if a print is not visible.
® Other scientists have found a way to estimate the age of a fingerprint.

This can expose whether the fingerprint dates to the time of a crime or

before or after.
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® When someone touches an object, they may leave a stamp of their

o o wp

fingerprint on it. This imprint may be made of oil, dirt, or other
substances that were on the person’s skin. Forensic scientists have long
gathered such fingerprints from crime scenes. Those prints can offer
clues about who has been at a certain place and what they did there.

[ (—HFEZ) « https:/www.snexplores.org/]

® 0 e O
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Read the following text and choose the most appropriate word or

phrase from A—D tofillin ( 1 )—( 10 ).

ZDEFICHEH INT VB LEICOWTIT,
ZUEME L INFHT A Z I TE T HA,
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ZDERGICEEH I N TV B LEITDWTIL,
EFELART S LI TEERA,

[Hi gl (—ERELZ) : https:/www livescience.com/]
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Read the following text and answer the questions below.

ZDEDICEH I N T VB XEICDOWTIT,
ZVEMEFNBIT 3 Z LI TR THA,
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ZDEPICEEH I N T B LEICOWTIT,
ZEEFNBT A LIITE T A,
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ZDERGFICEEE I N TV B LEIT DWW T,
ZUEMELFNBT A II TR EHA,

[Hi# (—Ef 3% ZE) : https:/www.theguardian.com/]
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1 Choose the word from A—D which is closest in meaning to O—®.

@ A. demonstration B. disaster
C. escape D. station
®@ A. crime B. damage
C. event D. indication
® A. empower B. endanger
C. ensure D. guarantee
@ A. artificial B. built-in
C. complex D. unknown
® A. controversial B. convenient
C. encouraging D. harmonious

2 Choose the best answer for each question.
(1) Currently, where is the automobile launched into space by Elon Musk?
A. It did not enter orbit and is still traveling through space.
B. It has returned safely to Earth.
C. It is on the surface of Mars.

D. It is orbiting Mars.

(2) How does the author feel about the use of robots in space exploration?
Robot technology will never be sufficient to replace humans.
Robots could carry bacteria harmful to the Martian environment.

Robots lack the skills necessary for space travel.

oo w >

Using robots would be more economical and safer than humans.
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(3)1 What do most people in the US believe NASA’s principle mission should
be?
A. developing robot technology
B. establishing a colony on Mars
C. preserving the environment on Mars

D. solving problems on Earth such as climate change

(4) What reason does the author NOT give against humans exploring Mars?
Humans would be bored on the trip.
Space is a dangerous environment for humans.

The main motivation for Mars exploration by humans is national pride.

v ow

The resources now used preparing for human space travel could be used

to solve more urgent problems on Earth.

(5) Which best summarizes the author’s opinion about human exploration of
Mars?
A. A human colony on Mars would be a historic technological achievement.
B. It is dangerous, expensive, and inefficient.
C. It is necessary to solve the climate crisis.

D. Mars is a wasteland of no interest to humans.
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Answer the questions below.

1 James is very proud of his garden where he spends many enjoyable hours
working every year. The weeding is hard work, but one of the rewards is the
beautiful display of flowers that appears in spring each year. One day, he
carefully picked 12 flowers. He used some of the flowers to make a bouquet
for his grandmother’s birthday party to celebrate her turning 80 years of age.
Each flower in the bouquet represented 20 years of her life.. Each flower was a
different color, and he added in some green leaves to make the colors stand
out more. He then chose some flowers to create a wedding anniversary gift
for his wife. They had been married 12 years, and each flower he gave her
represented three years of marriage. He also gave one flower to his neighbor

and then arranged the remainder on his office desk.

How many flowers did he have on his office desk?
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2 Mary is considering attending a university in California, and she is trying to
calculate the costs with her parents. The price of university has risen
considerably over the last few years, so she wants to make sure that it is not a
big financial burden on her parents. She needs to determine how much she is
going to need to borrow in total through a student loan. The cost of tuition for
the university course is $5, 000 per year. The course lasts four years. There
are additional processing fees at the beginning of the first year that cost half
as much as one year’s tuition. She estimates that textbooks and other school
supplies will cost $1, 000 per year. Mary knows that she can get government
assistance of $800 per year. Her parents have said that they can afford to
give her $10, 000 in total as a gift. In addition, she plans to work part-time and
expects to earn $2, 000 per year. She can live with a relative in California, but

her living expenses will still be $2, 500 per year.

Mary plans to study at the university for four years. According to her plan,

how much money will she need to borrow in total through the student loan?

3 Four friends— Emma, Finn, Grace, and Henry —are participating in a
game. Each of them is assigned a number from one to four. Each person has
a different number. The winner of the game is the person who can most
quickly identify everyone’s number based on the following clues.

Emma’s number is half of Grace’s number. Finn's number is one more than

Grace’s number. Henry’s number is one more than Finn's number.

What number is each friend assigned?
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4 Choose the statement or statements from A—F to describe the graph

correctly. Circle the letter (s) on the answer sheet.

Number of Goals Scored by Player in the Season

Ry
S

fom—y
Do

[y
<

co

number of goals

Naoki Muhammad Yuna Thomas Lee

players

Muhammad scored fewer goals than Thomas and Lee combined.
Muhammad scored the most goals while Lee scored the fewest.
One-sixth of the five players’ goals were scored by Lee.

Over half of all the five players’ goals were scored by Muhammad.

m o o w

The combined number of goals scored by Lee and Naoki is greater than
the combined number of goals scored by Muhammad and Yuna.

F. Thomas scored less than half the goals that were scored by Yuna.
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